Combf

Baby Keep Slim FL Installation Manual(to a flat surface)

In order to safely install the Baby Keep Slim FL onto a flat surface, please make sure you read this manual and follow the
instructions accordingly. This guide explains how to attach the Baby Keep Slim FL to a wall. To attach the Baby Keep Slim

FL in a corner, please refer to the Installation Manual supplied with the Corner Mounting Kit, sold separately.

r

/N WARNING

o Fix the Baby Keep to both the floor and the wall. The Baby Keep may fall if attached only to a floor.

e Select the anchor bolts that can be
firmly secured into concrete, to a
depth of at least 40mm. This
product may collapse if the anchor
bolts are connected to a mortar
surface.

How to Mount onto a Floor (@[IIiE35ED [ Correct |

» 4

Anchor Bolts

Tile E Secure the anchor bolts

=— Mortar <

Concrete
K

40 mm

firmly into concrete,
to a depth of at least 40mm.

b L

e Apply foundational reinforcement if the wall surface is other than concrete.*Make sure that each mounting point can withstand a
strength of 200 N (20 kgf or more)[fix 4 mounting points]. Failure to do so may result in fall.

e When mounting to drywall with self-tapping screws, reinforce the mounting points
with light gauge steel (studs or cross-braces), or reinforcement plywood along with
the screws. Failure to do so may result in fall.

How to Mount onto a Wall

Surface material
Insert wooden reinforcement

e \When mounting to a partition with self-tapping screws, insert snug-fitting wood reinforcement
of at least 30 mm at the mounting points. Failure to do so may result in fall.

Self-tapping screws
Paper Core

—1-— 30mm or
[~ greater

heating, etc.) is installed under the floor.

o Make sure that the following conditions are met when installing on a wood base.
Make sure that the total thickness of floor finishing material (flooring plywood, etc.), floor structure
material (particleboard, etc.) and reinforcement material (woodblock, etc.) should be 75mm or
more and install it by following installation process. It may cause tip over if it is not strictly followed.

e Do not install the product on the floor that does not have pull out strength. (In case the driving ‘ =
destination is on the cut end of the wood, etc.). It may cause tip over if it is not strictly followed.

e When installing on the wood base, do not install on the floor where ancillary equipment (floor

<In the case of wood base>
Washer ($10)

sure to check the wall strength.

e When replacing from another product (such as a similar diaper changing station), be

Floor base |
Reinforcing wood

Coach screw (D 9x75)

75 mm
Floor finishing or more
material » ¥

Prepared hole (D 6)

g

To assist the child promptly,
do not install the unit far
from the caregiver.

¢ Height of Installation

Location

Prevent
from escaping

Installation Location (Installation Range)

J

r

/\ WARNING

N

Below the seating surface, as described in
the diagram on the left, do not place

' S . .
handrails (including hinged one), trash
A WARNING ] can, or other objects. The child may stand
Install the unit where the caregiver up and escape and may fall.
canseethechiid. | T X-- \ /
\ 300mm
e A
- — 600mm as standard /N WARNING
Further than 100mm If installing the Baby Keep Slim FL in a private
restroom, install the Baby Keep Slim FL in a
. . location where the child can be seen by the adult
_ 1/
Notinterfere with door d L using the restroom at all times. )
Install the Baby Keep at r N
least 300mm from the toilet /N CAUTION
e Install on a wall at least 600mm away from the toilet, or insure 300mm of The Baby Keep Slim FL should be installed clearly
space between the Baby Keep Slim FL and toilet. \from door space. otherwise it may cause damage. )

Il Tynesof Screws used for Wall-mounting Il

(@ to @ indicate the types of wall surface below.

*Only self-tapping screws and washers are supplied with the Baby Keep Slim FL. Parts other than the supplied hardware will need to be obtained separately.

(D Partition/Plasterboard Installation

(@ Concrete/ALC Installation

(3 Hollow Block Installation

e Self-tapping screws
@5x35 self-tapping screws
(supplied with Baby Keep Slim FL)
N
@5 washers

(supplied with Baby Keep Slim FL)QA

Partition Reinforcement

Place a piece of wooden reinforcement at least
30mm in thickness inside the wall

*Note that installing reinforcement wood is
extremely important.

Plasterboard Reinforcement
Reinforce plasterboard with a light-weight steel
frame, 12 plywood, or t2.3 iron plate.

e Screws for use on concrete

0] 2 small
(supplied with holes
Baby Keep
Slim FL)

2 large
holes

* Female screw anchor holts
*Use ALC-specific anchors for ALC installatiorj

=
Spring washers 4 Use M6, M8,
Washers or M10 types

& Do not use male screw anchor
bolts, as it may not be possible

Caution | 14 attach the head pad.

¢ Toggle bolts
M6 bolts _
—

T @I=E

M6 washers
M6 spring washers

M6 toggle bolts

> 4 small holes

Concrete

Wood

* M10 Anchors 3 Locations
*Refer to the WARNING column on the left
for the selection of the length.

Nut — —j«—Washer

Male Type

¢ Goach Screw 5 Locations

*Refer to the WARNING column on the left
for the selection of the length

D975 @:(;Km

Coach Screw . ®10 Washer

. Pasincluded Il

0 Washers (¢10), 3

(¢5x35), 4

0

o Self-tapping screws

O O
SICY Oy Qoo

o Washers (¢5), 4

o Screw caps, 2

0 Head pad, 1

o Usage instructions sticker, 1

0 Braille sticker, 1

o Users Manual, 3

Installation Manual, 3

EN ? ?
I See back or mouning insiructions.

Manufacturer Com bi Corporatio n

2-6-7, Motoasakusa, Taito-ku, Tokyo 111-0041 Japan

*For information on products, contact the distribution agency.

oisiwor COMbiIWith Corporation

Head Office/2-6-7, Motoasakusa,

Taito-ku, Tokyo 111-0041 Japan

TEL : 81-3-5828-7631

FAX : 81-3-5828-7630

www.combiwith.co.jp/

133816160 201225(1)



Installation Instructions * Hole positions are all center pitch (center-to center) dimensions.

.' Remove screws on the lower panel. Confirm and E Remove the base, and screw in the three anchor

mark installation points.

bolts where indicated.

E' Return the base to its original location as indicated above, and " Fix the Baby Keep Slim FL to the wall at four mounting points.

fix the Baby Keep Slim FL to the floor at three mounting points.

(Refer to “Types of Screws Used for Wall-mounting” on the other side of this instructions)

Make sure 100mm or
more of space is
available on either side.

M10 anchor bolts, 3
*Anchor bolts must
be placed at least
40mm into the base

Do not use the center hole

81.5mm

Holes as seen from ahove

W//////%l%

45mm | 45mm

j;O OT ‘>

O 36.5mm

/\ CAUTION

s

If there is decoration lower
panel at wall and when
mounting to a wall, affix the
entire upper portion with
plywood to make even.

If the Baby Keep Slim FL is not
properly installed, damage may
oceur.

*We have prepared a guided

diagram of the upper portion.
% g pper p J

Nuts

Spring washers

\

Anchor bolts

Washers are includedﬂ

In order to stabilize the
base, take the slope of the
floor into account and use
the washers accordingly.

Washers

\

N . N
Side View
Do not leave empty
space on the wall /
7

Wall/

Install with self-tapping screws and washers
110mm

0 110mm

Parts are included @ 990mm

=0 =0

T

Supplied hardware @

h <=

N
*0Once the screws are in place, make sure the structure

| Concrete, ALC |

Affix with female type anchor bolts

110mm

130mm

Parts are included €

Screws (¢5)
for concrete, 2

=0 g

Female type anchor bolts, 2
Spring washers, 2

Bolts, 2 Washers, 2
*Use an M6, M8, or M10

female type anchor bolt. )

970mm

points \ / does not shake or wobble.
Attach the lower panel " Attach the head pad. " Put @ stick near the product " Affix the guide stickers to the restroom entrance
' (Make sure the correct side is up.) Put @ & @ stickers on the product. and to the stall doors.
e p Restroom entrance Restroom stall
Partis included @) 4
i
§ _/ i | N
artis
included N
Square holes ‘
*The up arrow on the back %
indicates which side is up.
. Test th d |
Match the 6 tabs vith times o mae surs
the corresponding
. square holes on the opens and Clloses
Parts are included @) backside to attach the appropriately. o o
head pad. ®
Lower panel L J © 5raille sticker, 1 Routine H,A Paris are included @)
Ve ~N inspection
/N CAUTION sticker - V.
Baby rest Inside  WRELYE
The head pad tabs will ( /N WARNING
make a clicking sound Stickers must be placed in highly Th i -
oroughly check the Baby Keep Slim FL once it has
. when correctly attached. visible areas. Dangerous actions A beer: ilrjlgtalxied Refer to th% Usees I\;Ianual “I\/Iailnte-
Note that the tabs may such as indicated on the usage nance Inspection” section. Using the Baby Keep
— ibnrsegrlf[égmcorrectly instructions sticker may lead to WARNING | siim FL without completely assembling it can lead to
— % . ) —_ injury or serious accidents. _ injury or serious accidents.

133816160 201225(1)




